WHAT'S IN THE BOX:

80" x 31.5"
HYPER NUT 5IN1

©) @ B O ¢
© e @ = @ €

.1 X Gore Air Vent + O-Ring

.1 X Tiki Key

.3 X Foot Straps

.6 X K9 Anti Twist

.6 X Screw M7 x 32

.6 X Teeth Washer

. 8 X Grub Screw 9.5 mm.

.2 X Screw M4 x 22

.2 X Square Brass Washer M4
10. 2 X Fin Base Cover

11.1 X Pair of M3.7 Armacore Fin
12.1 X Pair of M4.7 Armacore Fin
13.1 X Pair of M5.5 Armacore Fin

Recommend Board Bag
\Day Bag 8'0" Hyper Nut

® €
® 4

VLo~ kWK =

LIMITED SERIES

»
o} N6©

.1 X Gore Air Vent + O-Ring

.1 X Tiki Key

. 8 X Grub Screw 9.5 mm.

.2 X Screw M4 x 22

.2 X Square Brass Washer M4
2 X Fin Base Cover

.1 X Pair of M3.7 Armacore Fin

.1 X Pair of M4.7 Armacore Fin
.1 X Pair of M5.5 Armacore Fin

©8 o .9
— Q) e ®
© €

[

Recommend Board Bag
Day Bag 80" Hyper Nut

A

‘ii% STaslkBOa=D

o | INNOVATION QUALITY
Of 22 10)]
%&;jikiﬁ'-}
'y iy Hid

haj

CHE B2

STARLITE

ifite

O} N©

.1 X Gore Air Vent + O-Ring

.1 X Tiki Key

.8 X Grub Screw 9.5 mm.

.2 X Screw M4 x 22

. 2 X Square Brass Washer M4
.2 X Fin Base Cover

.1 X Pair of M3.7 Armacore Fin

.1 X Pair of M4.7 Armacore Fin
.1 X Pair of M5.5 Armacore Fin

©8 0.9
© €

OO~ Wh —

Recommend Board Bag
Day Bag 80" Hyper Nut

N

2022 STARBOARD SUP



WHAT'S IN THE BOX:
7!4'! x 30!!
HYPER NUT 5IN1

©) @ B O ¢
© e @ = @ €

.1 X Gore Air Vent + O-Ring @ &‘?

.1 X Tiki Key
.3 X Foot Straps
® C

.6 X K9 Anti Twist

.6 X Screw M7 x 32

.6 X Teeth Washer

. 8 X Grub Screw 9.5 mm.

.2 X Screw M4 x 22

.2 X Square Brass Washer M4
10. 2 X Fin Base Cover

11.1 X Pair of M3.7 Armacore Fin
12.1 X Pair of M4.7 Armacore Fin
13.1 X Pair of M5.5 Armacore Fin

Recommend Board Bag
\Day Bag 7'2"-7'4" Hyper Nut

VLo~ kWK =

LIMITED SERIES

5 OB
-'i——@.-_n_@;?

.1 X Gore Air Vent + O-Ring

.1 X Tiki Key

. 8 X Grub Screw 9.5 mm.

.2 X Screw M4 x 22

.2 X Square Brass Washer M4
2 X Fin Base Cover

.1 X Pair of M3.7 Armacore Fin
.1 X Pair of M4.7 Armacore Fin
.1 X Pair of M5.5 Armacore Fin

Recommend Board Bag
Day Bag 7'2"-7'4" Hyper Nut

A

‘ii% STaslkBOa=D

o | INNOVATION QUALITY
Of 22 10)]
%&;jikiﬁ'-}
'y iy Hid

haj

CHE B2

ST#IRLITE
©@8 0.9

© &

ifite

O} N©

.1 X Gore Air Vent + O-Ring

.1 X Tiki Key

.8 X Grub Screw 9.5 mm.

.2 X Screw M4 x 22

. 2 X Square Brass Washer M4
.2 X Fin Base Cover

.1 X Pair of M3.7 Armacore Fin

.1 X Pair of M4.7 Armacore Fin
.1 X Pair of M5.5 Armacore Fin

OO~ Wh —

Recommend Board Bag
Day Bag 7'2"-7'4" Hyper Nut

N

2022 STARBOARD SUP





